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QUESTION 1

Which two statements describe firewall filters? (Choose two.)
A. Firewall filters are applied to interfaces.

B. Firewall filters are applied to security policies

C. Firewall filters provide stateless security.

D. Firewall filters provide stateful security.

Correct Answer: AC

QUESTION 2

Which command allows you to view the raw packet data of interface ge-1/0/5?
A. monitor interface traffic ge-1/0/5

B. monitor traffic interface ge-1/0/5

C. show interface ge-1/0/5 media

D. show interface ge-1/0/5 extensive

Correct Answer: B

QUESTION 3

Which statement describes the ulst next-hop type that appears in the output of the show route forwarding- table
command?

A. A list of unicast or multicast forwarding entries waiting to be resolved.

B. A list of unicast destination prefixes for which packets will be silently discarded

C. Alist of unicast next hops used for a given destination for which load balancing is enabled
D. A list of unicast or multicast destination prefixes for which packets will be silently discarded.

Correct Answer: C

QUESTION 4
Which command is used to load the rescue configuration?

A. load merge rescue
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B. rollback rescue
C. rollback 0
D. load replace rescue

Correct Answer: B

QUESTION 5

Click the Exhibit button.

userfrouter> show interfaces fxpl
Physical interface: fxpl, Enabled, Fhysical link is Up
Interface index: 8, SHMP iflIndexz: 1
Type: Ethernst, Link-level type: Ethernet, MTU: 1514, Speed: 1000mbps
Device flags : Present Running
Interface flags: SHNMP-Traps
Link type : Full-Duplex
Current address: 00:50:56:a9:1c:h0, Hardware address: 00:50:56:a9%9:1c:bd
last flapped : 2020-01-17 16:27:10 UTC {lw3d 23:5& ago)
Input packets : 54054
Output packets: 30089 50:42 763MB  Ctrl+F11: Pause / Resume | M|
logical interface fupl.0 (Index 5) (SNMP ifIndex 13)
Flags: Up SHMP-Traps Encapsulation: ENETZ
Input packsts : 54054
Output packets: 30089
Protocol inet, MTU: 1500
Max nh cache: 100000, New hold nh limit: 100000, Curr nh cnt: 1,

curr new hold cnt: 0, NH drop cnt: O
Flags: Sendbcast-pkt-to-re, Is-Primary
hddresses, Flags: Is-Defaunlt Is-Preferred Is-Primary
Destination: 172.25.11/24, Losal: 172.25.11.1, Broadcast: 172.25.11.255

Referring to the exhibit, which two statements are true? (Choose two.)

A. The logical interface is running IPv6.

B. The interface is operating in full-duplex mode.

C. The address 172.25.11.255 is the broadcast address for the logical interface.
D. The interface MAC address has been changed from the default MAC address.

Correct Answer: BC
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